CONTRACT NO. 7245

		Hambura C		Capitol	Parisi	R.G. Huston	Badgerland	Joe Daniels Construction	Speedway Sand &
		nomburg C	contractors,	Underground, Inc.	Construction Co., Inc.	Company, Inc.	Excavating Corporation	Co., Inc.	Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price	Price
Section B: Proposal Page									
10701.0 - TRAFFIC CONTROL - LS	1.00	\$10,000.00	\$10,000.00	\$10,130.00	\$5,400.00	\$5,610.00	\$15,000.00	\$11,990.00	\$5,100.00
10721.0 - TRAFFIC CONTROL SIGN -									
PORTABLE CHANGEABLE MESSAGE -									
DAYS	14.00	\$165.00	\$2,310.00	\$125.00	\$160.00	\$165.00	\$200.00	\$135.00	\$150.00
10911.0 - MOBILIZATION - LS	1.00	\$90,000.00	\$90,000.00	\$121,000.00	\$75,000.00	\$99,478.00	\$80,000.00	\$185,783.00	\$152,500.00
20101.0 - EXCAVATION CUT - C.Y.	1,860.00	\$18.00	\$33,480.00	\$17.50	\$29.00	\$26.80	\$14.00	\$29.90	\$32.00
20217.0 - CLEAR STONE - TON	255.00	\$13.50	\$3,442.50	\$18.00	\$15.75	\$9.50	\$15.00	\$19.50	\$13.00
20219.0 - BREAKER RUN - TON	800.00	\$12.50	\$10,000.00	\$10.15	\$12.75	\$8.90	\$12.00	\$16.00	\$19.00
20221.0 - TOPSOIL - S.Y.	5,660.00	\$2.50	\$14,150.00	\$2.15	\$3.50	\$6.70	\$3.25	\$2.35	\$2.15
20322.0 - REMOVE CONCRETE CURB &									
GUTTER - L.F.	118.00	\$10.00	\$1,180.00	\$3.81	\$10.00	\$4.50	\$3.00	\$5.00	\$8.00
20323.0 - REMOVE CONCRETE									
SIDEWALK AND DRIVE - S.F.	1,300.00	\$2.00	\$2,600.00	\$1.29	\$2.00	\$3.00	\$2.00	\$1.50	\$2.00
20326.0 - REMOVE FENCE - L.F.	304.00	\$6.00	\$1,824.00	\$3.43	\$1.60	\$1.65	\$4.00	\$5.00	\$3.50
20401.0 - CLEARING - I.D.	54.00	\$26.00	\$1,404.00	\$26.00	\$27.50	\$28.60	\$20.00	\$28.00	\$26.00
20403.0 - GRUBBING - I.D.	54.00	\$26.00	\$1,404.00	\$26.00	\$27.50	\$28.60	\$20.00	\$28.00	\$26.00
20501.0 - ADJUST SEWER ACCESS									
STRUCTURE - EACH	9.00	\$350.00	\$3,150.00	\$270.00	\$360.00	\$394.00	\$250.00	\$325.00	\$500.00
20701.0 - TERRACE SEEDING - S.Y.	5,660.00	\$1.10	\$6,226.00	\$1.65	\$2.00	\$0.84	\$1.50	\$1.10	\$1.65
21001.0 - EROSION CONTROL									
IMPLEMENTATION PLAN - L.S.	1.00	\$1,200.00	\$1,200.00	\$1,440.00	\$1,500.00	\$672.00	\$250.00	\$1,000.00	\$800.00
21002.0 - EROSION CONTROL									
INSPECTION - EACH	4.00	\$420.00	\$1,680.00	\$150.00	\$420.00	\$385.00	\$25.00	\$400.00	\$300.00
21011.0 - CONSTRUCTION ENTRANCE -									
EACH	7.00	\$600.00	\$4,200.00	\$288.00	\$150.00	\$590.00	\$500.00	\$500.00	\$200.00
21013.0 - STREET SWEEPING - L.S.	1.00	\$1,200.00	\$1,200.00	\$3,723.80	\$1,200.00	\$704.00	\$500.00	\$2,800.00	\$4,000.00
21014.0 - CLEAR STONE BERM (DITCH									
CHECK) - EACH	1.00	\$450.00	\$450.00	\$240.00	\$150.00	\$251.00	\$250.00	\$300.00	\$250.00
21025.0 - SILT SOCK (12 INCH) -									
PROVIDE, INSTALL & MAINTAIN - L.F.	1,107.00	\$6.30	\$6,974.10	\$5.45	\$5.80	\$8.14	\$2.50	\$5.85	\$5.45
21026.0 - SILT SOCK (12 INCH) -									
REMOVE AND RESTORE - L.F.	1,107.00	\$2.10	\$2,324.70	\$0.50	\$0.55	\$0.55	\$1.00	\$0.60	\$0.50
21032.0 - INLET PROTECTION, TYPE C -		_		_	_	_		_	
PROVIDE & INSTALL - EACH	3.00	\$70.00	\$210.00	\$60.00	\$64.00	\$44.00	\$150.00	\$65.00	\$60.00

CONTRACT NO. 7245

		_	Contractors,	Capitol Underground, Inc.	Parisi Construction Co., Inc.	R.G. Huston Company, Inc.	Badgerland Excavating Corporation	Joe Daniels Construction Co., Inc.	Speedway Sand & Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price	Price
21033.0 - INLET PROTECTION, TYPE C - MAINTAIN - EACH 21034.0 - INLET PROTECTION, TYPE C -	6.00	\$50.00	\$300.00	\$25.00	\$26.50	\$16.50	\$25.00	\$27.00	\$25.00
REMOVE - EACH	3.00	\$30.00	\$90.00	\$25.00	\$26.50	\$11.00	\$50.00	\$27.00	\$25.00
21051.0 - CLEAN SUMP - EACH 21056.0 - INLET PROTECTION, TYPE D	3.00	\$400.00	\$1,200.00	\$709.92		\$512.00	\$300.00	\$400.00	\$350.00
HYBRID - PROVIDE & INSTALL - EACH 21057.0 - INLET PROTECTION, TYPE D	12.00	\$160.00	\$1,920.00	\$80.00	\$85.00	\$82.50	\$150.00	\$86.00	\$80.00
HYBRID - MAINTAIN - EACH 21058.0 - INLET PROTECTION, TYPE D	24.00	\$70.00	\$1,680.00	\$25.00	\$26.50	\$22.00	\$25.00	\$27.00	\$25.00
HYBRID - REMOVE - EACH 21061.0 - EROSION MATTING, CLASS I,	12.00	\$30.00	\$360.00	\$12.00	\$12.75	\$11.00	\$50.00	\$15.00	\$12.00
URBAN TYPE A - S.Y. 21073.0 - EROSION MATTING, CLASS II,	5,610.00	\$1.50	\$8,415.00	\$1.35	\$1.40	\$1.79	\$1.55	\$1.50	\$1.35
TYPE C - ORGANIC - S.Y. 30201.0 - TYPE "A" CONCRETE CURB	50.00	\$4.20	\$210.00	\$8.60	\$9.10	\$4.27	\$9.25	\$9.20	\$8.60
AND GUTTER - L.F. 30302.0 - 7 INCH CONCRETE SIDEWALK	118.00	\$40.00	\$4,720.00	\$45.53	\$38.50	\$59.68	\$32.00	\$38.00	\$35.00
& DRIVE - S.F. 30340.0 - CURB RAMP DETECTABLE	1,600.00	\$5.50	\$8,800.00	\$8.48	\$7.20	\$9.30	\$6.80	\$6.00	\$6.00
WARNING FIELDS - S.F.	92.00	\$33.00	\$3,036.00	\$30.00	\$48.75	\$38.50	\$54.00	\$30.00	\$40.00
40101.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 1 - TON 40102.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 2 OR NO. 3 -	235.00	\$13.00	\$3,055.00	\$14.03	\$13.25	\$19.20	\$15.00	\$18.00	\$28.00
TON 40201.0 - HMA PAVEMENT TYPE E-0.3 -	2,724.00	\$13.00	\$35,412.00	\$13.90	\$13.25	\$12.75	\$16.00	\$17.00	\$20.00
TON 40203.0 - HMA PAVEMENT TYPE E-3 -	733.00	\$70.00	\$51,310.00	\$66.75	\$73.00	\$74.31	\$78.00	\$71.50	\$67.42
TON	21.00	\$240.00	\$5,040.00	\$228.30	\$100.00	\$254.14	\$110.00	\$245.00	\$230.59
40301.0 - FULL WIDTH GRINDING - S.Y. 50801.0 - UTILITY LINE OPENING (ULO) -	168.00	\$20.00	\$3,360.00	\$18.65	\$19.00	\$20.76	\$24.00	\$20.00	\$18.84
EACH CHEFF EINE OF ENING (GEO)	5.00	\$525.00	\$2,625.00	\$540.00	\$750.00	\$574.80	\$250.00	\$600.00	\$500.00

CONTRACT NO. 7245

		Hambura C		Capitol	Parisi	R.G. Huston	Badgerland	Joe Daniels	Speedway
		Homburg Contractors, Inc.		Underground, Inc.	Construction Co., Inc.	Company, Inc.	Excavating Corporation	Construction Co., Inc.	Sand & Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price	Price
60800.0 - PAVEMENT MARKING EPOXY,									
LINE, 4-INCH - L.F.	900.00	\$5.40	\$4,860.00	\$4.90	\$5.20	\$5.39	\$5.00	\$5.25	\$4.90
60815.0 - PAVEMENT MARKING EPOXY,									
CROSSWALK, 18-INCH - L.F.	10.00	\$9.75	\$97.50	\$8.90	\$9.40	\$9.79	\$9.00	\$9.50	\$8.90
60816.0 - PAVEMENT MARKING EPOXY,									
CONTINENTAL CROSSWALK, 18-INCH -									
L.F.	500.00	\$9.75	\$4,875.00	\$8.90	\$9.40	\$9.79	\$12.00	\$9.50	\$8.90
60822.0 - PAVEMENT MARKING EPOXY,									
SYMBOL. BIKE SHARROW - EACH	4.00	\$230.00	\$920.00	\$210.00	\$220.00	\$231.00	\$300.00	\$225.00	\$210.00
90001.0 - CONCRETE CURB AND	4.00	Ψ200.00	Ψ020.00	Ψ210.00	Ψ220.00	Ψ201.00	ψοσσ.σσ	Ψ220.00	Ψ210.00
GUTTER 36-INCH, SPECIAL - L.F.	127.00	\$48.00	\$6,096.00	\$50.26	\$40.00	\$38.50	\$38.00	\$48.00	\$38.00
90003.0 - FENCE CHAIN LINK, 6-FT		*	4 0,00000	****	*	********	400.00	*******	400.00
GALVANIZED - L.F.	50.00	\$43.00	\$2,150.00	\$36.00	\$43.00	\$60.50	\$62.00	\$40.00	\$36.00
90006.0 - TREE PROTECTION - EACH	1.00	\$120.00	\$120.00	\$228.00	\$110.00	\$203.50	\$250.00	\$265.00	\$100.00
90010.0 - TURBIDITY BARRIER - L.F.	204.00	\$24.00	\$4,896.00	\$30.65	\$32.50	\$30.80	\$22.00	\$33.00	\$30.65
90070.0 - ADJUST SAS-SPECIAL - EACH	1.00	\$1,100.00	\$1,100.00	\$360.00	\$1,700.00	\$992.04	\$600.00	\$1,500.00	\$2,000.00
90501.0 - RAILROAD INSURANCE - L.S.	1.00	\$10,000.00	\$10,000.00	\$2,520.00	\$4,000.00	\$2,930.00	\$500.00	\$10,000.00	\$3,500.00
20314.0 - REMOVE PIPE - L.F.	326.00	\$5.00	\$1,630.00	\$21.98	\$21.00	\$4.80	\$10.00	\$26.75	\$20.00
50411.0 - 12-INCH RCP STORM SEWER	020.00	φο.σσ	Ψ1,000.00	Ψ21.00	Ψ21.00	ψ1.00	ψ10.00	Ψ20.70	Ψ20.00
PIPE - L.F.	89.00	\$47.00	\$4,183.00	\$62.48	\$69.00	\$52.50	\$65.00	\$69.50	\$65.04
50741.0 - TYPE "H" INLET - EACH	2.00	\$2,200.00	\$4,400.00	\$1,951.79	\$3,000.00	\$3,235.00	\$1,600.00	\$1,875.00	\$2,700.00
50762.0 - SADDLED INLET TYPE II -									
EACH	1.00	\$1,400.00	\$1,400.00	\$3,356.95	\$3,300.00	\$3,235.00	\$1,600.00	\$2,250.00	\$3,500.00
20311.0 - REMOVE SEWER ACCESS									
STRUCTURE - EACH	9.00	\$450.00	\$4,050.00	\$437.92	\$580.00	\$920.00	\$500.00	\$650.00	\$500.00
20331.0 - ABANDON SEWER ACCESS									
STRUCTURE - EACH	3.00	\$600.00	\$1,800.00	\$210.38	·	\$636.00	\$500.00	\$500.00	\$400.00
20336.0 - PIPE PLUG - EACH	6.00	\$200.00	\$1,200.00	\$454.92	\$150.00	\$204.00	\$200.00	\$215.00	\$500.00
50211.0 - SELECT BACKFILL FOR	4 404 00	64.00	04 404 00	0.40	¢4.00	CO 40	CO 40	#4.00	CO 40
STORM SEWER - TF 50225.0 - UTILITY TRENCH PATCH TYPE	1,461.00	\$1.00	\$1,461.00	\$0.10	\$1.00	\$0.10	\$0.10	\$1.00	\$0.10
III - TF	7.00	\$150.00	\$1,050.00	\$135.26	\$360.00	\$250.00	\$325.00	\$200.00	\$250.00
III 11	1.00	ψ130.00	ψ1,000.00	ψ100.20	ψ500.00	Ψ250.00	ψ525.00	Ψ200.00	Ψ230.00

CONTRACT NO. 7245

		Homburg C	ontractors	Capitol Underground,	Parisi Construction	R.G. Huston Company,	Badgerland Excavating	Joe Daniels Construction	Speedway Sand &
		Homburg Contractors, Inc.		Inc.	Co., Inc.	Inc.	Corporation	Co., Inc.	Gravel Inc.
ltem Qua	antity	Price	Extension	Price	Price	Price	Price	Price	Price
50412.0 - 15 INCH RCP STORM SEWER	•								
PIPE - L.F.	18.50	\$48.00	\$888.00	\$72.83	\$79.00	\$55.00	\$70.00	\$73.00	\$71.21
50413.0 - 18 INCH RCP STORM SEWER									
PIPE - L.F.	66.50	\$50.00	\$3,325.00	\$73.04	\$72.00	\$56.00	\$72.00	\$78.00	\$69.59
50414.0 - 21 INCH RCP STORM SEWER									
PIPE - L.F. 35	54.50	\$74.00	\$26,233.00	\$67.69	\$70.00	\$46.00	\$62.00	\$95.00	\$73.51
50415.0 - 24 INCH RCP STORM SEWER									
PIPE - L.F. 32	25.00	\$73.00	\$23,725.00	\$68.50	\$74.00	\$48.00	\$64.00	\$105.00	\$76.70
50416.0 - 27 INCH RCP STORM SEWER									
PIPE - L.F. 25	52.50	\$78.00	\$19,695.00	\$90.98	\$76.00	\$53.00	\$66.00	\$120.00	\$81.17
50417.0 - 30 INCH RCP STORM SEWER									
PIPE - L.F. 43	31.00	\$79.00	\$34,049.00	\$91.74	\$85.00	\$58.00	\$68.00	\$122.00	\$102.24
50461.0 - 12 INCH RCP AE - EACH	2.00	\$700.00	\$1,400.00	\$757.11	\$1,800.00	\$710.00	\$500.00	\$850.00	\$880.00
50601.0 - 12 INCH RCP AE GATE - EACH	2.00	\$500.00	\$1,000.00	\$375.05	\$500.00	\$700.00	\$600.00	\$500.00	\$439.00
50724.0 - 4'X4' STORM SAS - EACH	5.00	\$2,700.00	\$13,500.00	\$4,138.18	\$3,500.00	\$4,035.00	\$3,200.00	\$3,300.00	\$3,000.00
50725.0 - 5'X5' STORM SAS - EACH	3.00	\$4,200.00	\$12,600.00	\$5,358.43	\$5,300.00	\$5,079.00	\$4,200.00	\$4,825.00	\$3,500.00
50792.0 - STORM SEWER TAP - EACH	8.00	\$600.00	\$4,800.00	\$950.17	\$1,200.00	\$901.00	\$850.00	\$900.00	\$800.00
50794.0 - PRIVATE STORM SEWER									
RECONNECT, TYPE 2 - EACH	3.00	\$450.00	\$1,350.00	\$1,414.81	\$1,500.00	\$1,224.00	\$650.00	\$1,365.00	\$1,800.00
50802.0 - CONCRETE SUPPORTS -									
EACH	2.00	\$1,100.00	\$2,200.00	\$537.00	\$1,200.00	\$1,072.00	\$500.00	\$700.00	\$500.00
90031.0 - STORM CONTROL - L.S.	1.00	\$8,500.00	\$8,500.00	\$3,506.40	\$600.00	\$300.00	\$500.00	\$3,745.00	\$1,000.00
90032.0 - 33 INCH RCP STORM SEWER									
	46.00	\$95.00	\$61,370.00	\$105.02	\$85.00	\$61.00	\$70.00	\$150.00	\$112.63
90033.0 - 33 INCH RCP AE - EACH	1.00	\$1,550.00	\$1,550.00	\$1,156.36	\$1,800.00	\$1,560.00	\$1,500.00	\$2,250.00	\$1,855.00
90034.0 - 33 INCH RCP AE GATE - EACH	1.00	\$2,100.00	\$2,100.00	\$1,278.66	\$1,800.00	\$2,142.00	\$2,500.00	\$1,980.00	\$1,688.00
90035.0 - 3'X6' STORM SAS - EACH	1.00	\$3,900.00	\$3,900.00	\$1,602.90	\$5,700.00	\$3,114.00	\$5,000.00	\$4,280.00	\$3,500.00
	44.00	\$50.00	\$12,200.00	\$39.00	\$66.00	\$60.00	\$42.00	\$67.00	\$39.00
20233.0 - RIPRAP FILTER FABRIC, TYPE	17.00	ψ50.00	Ψ12,200.00	ψ00.00	ψ00.00	φου.σο	Ψ-2.00	ψ07.00	ψ55.00
•	02.00	\$10.00	\$2,020.00	\$2.00	\$2.50	\$3.00	\$3.00	\$4.00	\$2.00
90021.0 - REMOVING OLD STRUCTURE	02.00	Ψ.σ.σσ	Ψ2,020.00	Ψ2.00	Ψ2.00	ψο.σσ	φ0.00	Ψ1.00	Ψ2.00
STATION 38+71 - L.S.	1.00	\$25,000.00	\$25,000.00	\$10,000.00	\$48,200.00	\$28,000.00	\$22,000.00	\$24,500.00	\$12,200.00
90022.0 - PILING CIP CONCRETE 10.75 X		+=0,000.00	+=0,000.00	ψ.ο,οοοίοο	Ţ.c, <u>_</u> cc.cc	Ψ=0,000.00	4 ,000.00	Ψ= :,σσσ.σσ	Ţ. <u>_</u> ,00.00
	48.00	\$73.00	\$69,204.00	\$38.00	\$42.75	\$42.31	\$44.00	\$45.00	\$38.00

CONTRACT NO. 7245

		Homburg Contractors, Inc.		Capitol Underground, Inc.	Parisi Construction Co Inc.	R.G. Huston Company, Inc.	Badgerland Excavating Corporation	Joe Daniels Construction Co., Inc.	Speedway Sand & Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price	Price
90023.0 - REINFORCED CONCRETE	•								
BRIDGE ABUTMENTS, WINGWALLS,									
AND RETAINING WALL - L.S.	1.00	\$90,000.00	\$90,000.00	\$113,000.00	\$100,000.00	\$126,000.00	\$176,000.00	\$58,770.00	\$131,420.00
90024.0 - PRE-FABRICATED STEEL									
TRUSS BRIDGE FURNISHED AND									
INSTALLED - L.S.	1.00	\$83,000.00	\$83,000.00	\$113,000.00	\$95,000.00	\$126,000.00	\$138,000.00	\$74,670.00	\$181,420.00
90025.0 - REINFORCED CONCRETE									
APPROACH SLABS - S.Y.	25.00	\$120.00	\$3,000.00	\$166.00	\$215.00	\$185.00	\$154.00	\$117.00	\$166.00
90026.0 - STEEL RAILING - L.F.	77.00	\$240.00	\$18,480.00	\$236.00	\$265.00	\$263.00	\$285.00	\$360.00	\$236.00
50722.0 - 6'X6' CATCHBASIN - EACH	3.00	\$8,300.00	\$24,900.00	\$7,119.44	\$7,800.00	\$6,100.00	\$6,500.00	\$8,900.00	\$6,000.00
90601 - SCHEDULED TRANSMISSION									
LINE OUTAGE - L.S.	1.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
Totals			\$952,219.80	\$995,972.04	\$997,743.85	\$1,007,210.04	\$1,014,497.60	\$1,134,913.15	\$1,164,565.56